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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 1103 6.6 1.7 8 81.9 99.8
2 1103 3.6 0.7 4 88.8 99.8
3 1098 33 1.2 4 83.1 99.4
4 1049 0.9 0.7 2 47.3 94.9
5 1035 2 1.5 4 50.3 93.7
6 1075 3.7 1.8 6 62 97.3
7 1099 1.8 1.1 4 46.1 99.5
8 980 2.6 2 6 43.3 88.7
9 928 0.2 0.5 2 8.2 84

10 1025 2.7 2.2 8 33.8 92.8
11 1064 2 0.9 3 66.9 96.3
12 988 1.9 1.9 4 46.4 89.4
13 977 0.7 0.6 2 33.5 88.4
14 935 1.2 1.5 4 30.2 84.6
15 1011 1.9 1.2 4 46.3 91.5
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Calculate the weighl of esch of the four ehapes.
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8.

(Volume of cuboid =) 2 %3 x5
= 30(m?)
{Weight of cuboid =y 7200 (kg)

0-95 x 7200 or 7200 — 0-05 = 7200

= 6840 (kg)
(Weight of each shape =) 1710(kg)

N N

M1
Al
Bl

Ml
Al
Bl

F.T. ‘their volume™ = 240.
F.T. “their weight” including 240(kg).

F.T. ‘their 6840 + 4.
Alternative method for final three marks.

Sight of 1800(kg) F.T. ‘their 7200° /4 Bl
0-95 x 1800 or 1800 —0-05 < 1800 M1l
=1710 (kg) Al
Alternative method
2x3 x5 M!
= 30(m’) Al
0-95 % 30 M!

= 28-5(m’) Al
(< 240) 6840(kg) Bl
{+4) 1710(kg)

OR (+4) 7125(kg)
Bl OR (*240) 1710(kg).











Question 8
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Sticky Note

Weight of each cuboid taken to be 240kg.










Calculate the weighl of esch of the four ehapes.
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Sticky Note

Incorrect evaluation of the volume of a cuboid
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Sticky Note

Candidates should check their work for arithmetical errors.










A large solid cuboid has dimensions 2 metres by 3 metres by 5 metres.
Each cubic metre of the solid cuboid weighs 240kg.

The cuboid is cut into four identical shapes.
During this cutting process, 5% of the cuboid’s weight is lost.

Calculate the weight of each of the four shapes.











(b) The car used 1 gallon of petrol for every 40 miles travelled.
After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4-:546 litres, find the least whole number of litres
of petrol that Alice bought. (5]
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(b) The car used 1 gallon of petrol for every 40 miles travelled.
After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4:546 litres, find the least whole number of litres
of petrol that Alice bought. [5]
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(b) The car used 1 gallon of petrol for every 40 miles travelled.
After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4-546 litres, find the least whole number of litres

of petrol that Alice bought. 5]
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10(b)

450/ 40
=11-25 (gallons)

11-25 = 4-546
(Litres bought =) 52

N

AR

Ml
Al

SC1 for 5-625 (gallons).

Do not allow the Al (or SC1) if ‘rounded’ value used
for next calculation.

FT. ‘their 11-25 x 4-546.

Al for 51(-1425). Similarly Al for a ‘correct’ F.T.
answer that is not rounded up to nearest whole number.











(b) The car used 1 gallon of petrol for every 40 miles travelled.
After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4-:546 litres, find the least whole number of litres

of petrol that Alice bought. (5]
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Sticky Note

Return journey not taken into account.










(b) The car used 1 gallon of petrol for every 40 miles travelled.
After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4:546 litres, find the least whole number of litres
of petrol that Alice bought. [5]
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Sticky Note

Return journey not taken into account.
Premature approximation of value to be used in further calculations.










(b) The car used 1 gallon of petrol for every 40 miles travelled.
After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4-546 litres, find the least whole number of litres
of petrol that Alice bought. [5]
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Sticky Note

Return journey not taken into account.
Premature approximation of value to be used in further calculations



Sticky Note

Answer not rounded up to cover all of petrol used.










10.

(b)

The car used 1 gallon of petrol for every 40 miles travelled.

After Alice had driven back home, she replaced all the petrol she had used on her trip.
Assuming that 1 gallon is approximately 4-546 litres, find the least whole number of litres

of petrol that Alice bought.

[5]











14. Elfed invests £3500 for 2 years at 1:5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years.
Give your answer correct to the nearest penny.

€’3>500 —.160 = 539 - 17@
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14. Elfed invests £3500 for 2 years at 1:5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years.
Give your answer correct to the nearest penny.
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14. Elfed invests £3500 for 2 years at 1:5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years. .
Give your answer correct to the nearest penny. 4]

2900 x1:9%= AA8S.











14.

3500
52-50
3552-50
53.28(75)

3605.78(75)

(£)3605.79 OR 360579(p)

SNE NN

Bl

M1

Al
Al

For the evaluation of a correct 1-5%

OR Sightof 1-015

(105 or 3605 imply use of 2% 52-5 and gain B1)
For correctly attempting to find 2 different 1-5%.
OR 3500 x 1-015%

C.AO.

F.T. one arithmetic error. Must be to nearest penny.
Accept £3605.79. Do not accept 3605.79p.

Mark final value of investment

(i.e. do not penalise 1f they continue to give £105.79
If extra year OR depreciation mark accordingly, then
penalise —1.











14. Elfed invests £3500 for 2 years at 1:5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years.
Give your answer correct to the nearest penny.

€’5500 —.160 = 53,: - 17@
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Sticky Note

Simple interest evaluation used.










14. Elfed invests £3500 for 2 years at 1:5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years.
Give your answer correct to the nearest penny. [4]

1 ONS X 3S00 = £3405-7%7S g

1360580 investmunt




Sticky Note

Answer not given to the nearest penny.










14. Elfed invests £3500 for 2 years at 1:5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years. .
Give your answer correct to the nearest penny. 4]




Sticky Note

50% interest used instead of 1.5%.










14. Elfed invests £3500 for 2 years at 1-5% per annum compound interest.
Calculate the value of his investment at the end of the 2 years.
Give your answer correct to the nearest penny. [4]












